
 

Leaving Certificate 2018  14  
Mathematics, Paper 1 – Higher Level 
 

Question 8 (40 marks) 

The graph of the symmetric function ݂(ݔ) = 
ଵ√ଶగ ݁ି భమ௫మ

 is shown below.   

 

 

 

 

 

 

(a) Find the co-ordinates of A, the point where the graph intersects the ݕ-axis.   
Give your answer in terms of ߨ. 

 
 
 
 

 

(b) The co-ordinates of B are ቀ−1, ଵ√ଶగ௘ቁ.  Find the area of the shaded rectangle in the diagram 
above.  Give your answer correct to 3 decimal places. 

 
 
 
 
 

 
(c) Use calculus to show that ݂(ݔ) is decreasing at C. 
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